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Choose the correct answer from the following: I1%20=20
1. The tirst Indian School ot Social Work was:-
a. Sir Dorabji Tata Graduate School ot b. Delhi School of Social Work
Social Work
c. Hyvderabad School of Social Work d. None of the above
2. What are the objectives of social policy?
a. Social Change b. Social Integration
¢. Improvement of quality of lite d. All of the above
3. Social work reters to:-
a. Providing, social service Lo people b. Helping people to help themselves
¢. Organizing charitable works d. Orphanages, foster homes, poor homes
4. Cleaning a village by volunteers is an example of:-
a. Social work b. Social welfare
¢. Social service d. Charity work
5. Which of the following, is not the value of social work?
a. Integritv b. Self-reliance
c. Dignity of individual d. Self-interest
6. Which of the tollowing 1s not a goal of social work?
a. To enhance social functioning of the b. To improve the quality of life of people
people
¢. Toestablish a democratic form of d. To eradicate inequalities & exploitation
government
7. Which one of the following, is not a principle of social work?
a. Non- judgemental attitude b. Acceptance of people as they are
c. Absolute confidentiality d. Mobilization of community people
8. The philosophy of social work mainly revolves around:-
a. Humanitarian values b. Liberal democratic ideals
c. Marxist ideology d. Social reform movements
9. How many methods are there in social work?
a. 6 b. 4
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10.

12.
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16.
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Social workisa....................... based profession.

a. Theory b. Practice

c. Skills d. None of the above

Historically social policy relates to:-

a. Intervention and social redistribute b. Socially regulatory kind
lype

c. Sociallv right kind d. All the above

Social problem are treated with social reformand ...............

a. Social legislation b. Social work

c. Social science d. Social service

Which among, the following is a primary method of social work?

a. Social action b. Social welfare administration
c¢. Community organizalion d. Social work rescarch
Elizabeth poor law is also known as:-

a. 23 Elizabeth b. 33 Elizabeth

c. 43 Elizabeth d. 53 Elizabeth

The common base of social work practice includes all of the following, except:-

a. Knowledge b. Values
c. Skills d. Intervention models

Which of the following, is not a social process?
a. Accommodation b. Acculturation
c¢. Annihilation d. Assimilation

Which one of the following, is not a part of social case work process?
a. Treatment b. Assessment
¢ Studv d. Content analvsis

Social workers practice under all of the following auspices excepl:-
a. Public b. Not-for-prolit
¢. For-profil d. Media

Social work administration is under:-

a. Primary method of social work b. Secondary method of social work

c. Method of public administration d. All the option

The concept of felt-needs is related to:-
a. Social group work 1
¢. Social action d. Community organization

. Social case work
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[ Answer question no.1 & any four (4) from the rest |

Explain the principles of social work in your own words.
Write short notes on the following;:

a)  Social action

bh)  Social service

¢)  Social welfare

d)  Social policy

¢)  Social reform

Explain the Elizabeth poor law and charitable organization society.

Detine case work. Explain the code of ethics of social work

profession.

What are the objectives of fieldwork? Explain the fields of social

work.
What is social work? Explain the history of social work in India.

ixplain Gandhian philosophy in context of social work. How social
work is ditferent from social service?

What are the skills of social work? Explain the roles of social work.
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2x5=10

5+5=10

5+5=10

5+5=10

5+5=10

6+4=10

5+5=10
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